Eploded View Panthera
Fogtplate Carbon Angle-adjustable permObﬂ




Pos. [Benamning Art.nr Antal
1 Plate carbon Not sold separately 1
2 | Attachment foot plate carbon left Not sold separately 6506011 1
3 | Attachment foot plate carbon right Not sold separately 6506012 1
4a |Bolt BN 1206 M5x12 Oxidized Black Not sold separately 6004512C 4
4b | Bolt BN 1206 M5x16 Oxidized Black Not sold separately 6004516C 4
5 Bolt MELC6S M5x8 FZSV Not sold separately 6004588 4
6 | Washer M5x13x1 Not sold separately 8000513 4
7 | Lock nut DIN 985 steel M5 fzb 7000050 4
8 | Attachment angle-adjust. foot plate 6506050 2
9 Clamp B3 Side cpl. right 4234042 1
10 |[Clamp B3 Side cpl. left 4234041 1
11 | Bolt MC6S M6x18 12.9 FZSV 6002648 4
12 [ Calf strap Panthera 1

permgbil



